s intersect at a point then the vertically opposite angles are always

(b) unequal

(d) Complementary
1 of Harsha Vardhana

plf two line
(a) equal

(¢) Supplementary
ame the chinese pilgrim who visited India during the reigr
(b) Megasthenes

(d) Marco Pola
aldez spill a huge amount of oil, causing

(a) Fa-hsien
(c) Huien Tsang
hain which ocean did the ship Exxon V.

death of numerous marine animals?
(b) Atlantic Ocean

(a) Artic Ocean
(d) Southern Ocean

(c) Pacific Ocean
3. Which of these is th
(a) Reindeer

e state animal of Sikkim?
(b) Bear
(d) Red Panda
visited India during the reign of Chandrayupta I
(b) Marco Polo
(d) Al-Biruni

(c) Yak

4. Which chinese pilgrim
(a) Fa-hsien
(c) Huien Tsang

15. Who is known as 'the father of Genetics™?
(b) George Mendel

(a) Louis Pasteur
(d) Nicolaus Copernicus

(c) John Dalton

6. Which term is used for Rearing of Aquatic organisms?
(b) Aviculture

(a) Aquaculture
(d) Horticulture

(c) Aeroculture

| 7. Which of the these is a utility software?
(a) Window XP
(c) Norton Antivirous

(b) MS Word
(d) Q Basic

{ 8. ROM stores data

(@) permanently (b) temporarily

(c) partially (d) fully

19 is the set of instructions given to the computer to perform a specific task.
(@) Monitor (b) Hardware
(c) Software (d) Printer

20, creates a link between a user and computer.
(a) Device driver (b) Utilities
(c) Operating system (d) Image viewer
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PSM WORLD SCHOOL (1)
o HOLT OAY HOMEWORK

SUBJECT 2 (K.

CLASS o V|
CLASS 2= \'|

- t o 3
1 Name the instrument that measures electric current

-.'aj electrical cell (b) electrical lamp ‘.

5. {€) ammeter (d) electrical switch ,
The value of (40° - 50°) x 62js b
(@) 36 (b) -36 () 0 (d) 1 fl
If the angles of a triangle are in the ratio 1 : 2 : 3, then the triangle is — ;
(@) acute angled (b) obtuse angled

(©) right angled (d) right angled isosceles :

Y . Two railway tracks are parallel to each other. A third track intersects both the tracks
at O and P as shown in the figure. \
s

D
A = (?)? / - X "
B «— /P/ 2 e
Find the value of the angle (??) shown in the figure.
(@) 116° (b) 26° (c) 56° (d) 66°
§ - The mean of single digit whole numbers is
(a) 4 (b) 5 (c) 45 (d) 55
6 - Mohit bought a CD player for ¥ 750 and sold at T 900. Find his gain percentage. :
(a) 15% (b) 16% (0 19% (d) 20%
6. 3 taken away from 0 gives )
(@) 3 (b) -3 (€) 0 (d) not possible |
7. One of the angles of a triangle is 100°. Two other angles of the triangle are equal
What is the measurement of equal angle?
() 45° (b) 40° (c) 60° (d) 55° 3
8. If there are 14400 people born in a day then how many people were born every
hour?
(a) 240 (b) 120 (c) 600 (d) 400 ‘
9. Perimeter of a square park is 520 m. The area of the park is
(@) 19600 m? (b) 169 m? " (c) 196 m’ (d) 16900 m*



Q.3. Refer fo Fig. 1 and 2 below and answer the following questions:
North Pole
90°N

TS

90°S
South Pole

South Pole

Fig 1 Fig 2

1. In Fig. 1, the lines are:
@ lines of longitude (b) lines of latitude
2. InFig. 2, the lines are:

(@) lines of longitude (b) lines of latitude

In Fig. 1, the line representing 0° longitude is called the e ——
In Fig. 1, the line representing 0° latitude is called the  ————
Each of the lines of longitude in Fig. 1 extends from the e Ol€ to the oy’ O'€-

Each of the lines of latitude in Fig. 2 iS umn to the equator.
The distance, in degrees, from the Prime Meridian to 90° East is

N oo s w

(d) 90 degrees.

(@ 10 (b) 45 (c) 75
8. The distance, in degrees, from the Prime Meridian to 90° West is
(@) 10 (b) 45 () 75 (d) 90 degrees.

Q.4. Tick () the correct response.
1 He is called as the Father of Indian Space Program:

(a) Charak D (b) Homi Bhabha

(c) Vikram Sarabhai C | (d) Aryabhatta

2. Other name of the Great Bear Constellation is:
1 (b) UrsaMajor

(a) Pole Star a5
(©) Blue Planet "] @ Milky Way

3 Celestial bodies in the sky, which are big and shine brighter are called:

(a) Comets j (b) Meteoroids

(c) Stars .1 (d) Asteroids
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Q 1. Compnle your findlngs about the Neolithic Age people in the Table given below:

NAME =

|
| When did they live?
|

| Where did they live?

What do they ate?

How did they get their food?

Tools used by them

Important inventions and discoveries

Social life

Religious practices

Q.2. Identify the following archaeological sites and mark them in the outline map of India.

1. Nealithic Sites

(@ (b)
2. Megalithic Sites

(@) (b)
3. Palaeolithic Sites

(@) (b)
4. Early Villages

(a) (b)
5. Mesolithic Sites

(a) (b)
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The dog barked at the maid.

The lad wants to be a teacher. e e ————

His brother works as a manager. R e e

O v b~ w

Her father-in-law is a shopkeeper.

Undexline the aﬂjcctlua;-sond {denify it kind -

R

1. That girl is Reena.

I

Whose scooter is this?

rJ

Those are their bicycles.

W

The zoo has many animals.

Which school do you go to?

The pen has not much ink left.

The sky is bright and blue today.

® N o on s

This boy is a member of the Karate club.
€. Tick the covrect Wonl dn hebyackedA.

You are not as (tall, taller, tallest) as your sister.

He is the (bad, worse, worst) player in the team.

She is (pretty, prettier, prettiest) than her mother.

This clown is not as (funny, funnier, funniest) as that one.

That lake is the (shallow, shallower, shallowest) in this area.
Which university offers (the good, the better, the best) courses?
What is (far, farther, the farthest) distance you can runin a race?

8. The second half of the movie was (little, less, the least) interesting, A\ |
£ Form adjectives from the following NOUNS, verhs and ajechved.

star red sick
help obey play
talk wind enjoy
elder comic correct
danger length

accident




